Test Booklet Code & Serial No.

YU FIE o A

Paper-11
ECONOMICS

Signature and Name of Invigilator Seat No.
1. (Signature) ......cccoecveeevviveeeniieeeee, . .
g (In figures as in Admit Card)
(NamMe) .cooovveeeiieiieeee e
SEAtINO. .
2. (Signature) .......ccccceeeeeeecciveeeeeeeeene (In words)
(NamMe) .cooouveeeieeiieeeee e OMR Sheet No.
APR -11224 (To be filled by the Candidate)
Time Allowed : 2 Hours] [Maximum Marks : 200
Number of Pages in this Booklet : 48 Number of Questions in this Booklet : 100
Instructions for the Candidates WWW
1. Write your Seat No. and OMR Sheet No. in the space provided 1. qﬁgﬂgﬁ‘—,ﬁ- ST ST 9T =1 Wﬁ T I m
on the top of this page. N~ f e . . A~
2. This paper consists of 100 objective type questions. Each question J H TSl STUATh =1 shHI Taree] Tefgrel.
will carry two marks. All questions of Paper I will be compulsory. 2. TS YEIERA 100 @hﬁ YT 284, TIF ToE g Rk
3. At the commencement of examination, the question booklet :}TI%H 0 H%-—Hﬁiq\odlm 'H'of?l'i’:[ Trefam stfqerd C”ﬂ'l%’
will be given to the student. In the first 5 minutes, you are 3 qﬁg‘_ﬁ-ﬁ-ﬁ STEHTa forenestet weTatsehT ﬁ?ﬁa@awﬁﬁw 5
requested to open the booklet and compulsorily examine it as ’ i i f a
follows : 23 X g AT ST T T
@) To have access to the Question Booklet, tear off the REESIGH
Pagerksleal on}tlhe edge lgfthis iOVer Pagel; Dl.; IHOt accept @) T SHSATHIS T TETash o Tawe] Hiel S
a booklet without sticker-seal or open booklet. et e R IS mm
@) Tally the number of pages and number of questions in . m T
the booklet with the information printed on the cover @) %E a1 TeE TS HTTY Rk ] THa g%
page. Faulty booklets due to missing pages/questions THE YeTAehdi THI T & RERIC-A w%raﬁ
or questions repeated or not in serial order or any E%E-Tlf]' SR/ W STEeTe/ A ﬂﬂ'ﬂ?ﬂﬂv_ﬂ
other discrepancy should not be accepted and correct ﬂﬁ?ﬁmﬁﬂa AT TET TR =
booklet should be obtained from the invigilator within Y g
the period of 5 minutes. Afterwards, neither the Question 5 THiTrT= T aTshren T <% qF EEERIEED HETEH
Booklet will be replaced nor any extra time will be =7, ﬁTﬁTﬂ Wﬂﬁ’aﬂ TremT T'I'IET GEE] aﬁ!’zﬁ
given. The same may please be noted. EI'IEEFT ﬁqawn'{ :[FE;] =t W fa’g]‘[g;;ﬁ:ﬁ Hie =qrEt.
(iir) After this verification is over, the OMR Sheet Number ~
should be entered on this Test Booklet. (i) T AT 'HH(\HEVIIO%# thlavqlqu ERRRIEEZER
4. Each question has four alternative responses marked (A), (B), . TH. AR JAAF = TR Tefer=l
(C) and (D). You have to darken the circle as indicated below on 4. ‘;I@EF ‘JI'Q‘!W'IT:?[ (A), (B), (C) 391foT (D) awﬁ IR oy 'ﬁf{ ﬁ?ﬁ'
the correct response against each item. SATed. A IR ST T Eelt E?HEIQ_"‘JTW ST

Example : where (C) is the correct response.

5. Your responses to the items are to be indicated in the OMR @ ' @
Sheet given inside the Booklet only. If you mark at any place .
other than in the circle in the OMR Sheet, it will not be evaluated. 5. AT ?Ei;a o TR S aﬁ@?m’ mﬁ?ﬁam.

6. Read instructions given inside carefully. Wmmﬁmw G

7. Rough Work is to be done at the end of this booklet. 6. a1 Teeten A m&ﬁﬁ'ﬁﬁ =AM,

8. If you write your Name, Seat Number, Phone Number or put 7. TITUTS =1 el SIS ciedl Il YHE shed hH H{d.
any mark on any part of the OMR Sheet, except for the space 8 S ST 3 TG e T =i Frodt
allotted for the relevant entries, which may disclose your ’ 'Q:Fl % Er{- . - - ! - LR €
identity, or use abusive language or employ any other unfair A s 5 $
means, you will render yourself liable to disqualification. T 5_ 3@ a{\li % ?ZIEIT:lT ETHW = { i TR

9. You have to return original OMR Sheet to the invigilator at the 3‘:\"'\'1@' R TeTElT= |<’1| T U ST FEe o
end of the examination compulsorily and must not carry it with 9. R e formeat Ue o7 uH. SR, SRuH fhagHihe
you outside the Examination Hall. You are, however, allowed U HI0] AT TR, ﬁﬂﬁ,mﬁl a?rqqa:rr{ ELICIEEE
to carry the Test Booklet and duplicate copy of OMR Sheet on TEd= WA SIS AU Tereneatn TET aTR.

1o Lonclusion of examination. 10. e e fohe e el T aTat .

. se only Blue/Black Ball point pen. G St e i 2 N n

11. Use of any calculator or log table, etc., is prohibited. 11. Gl e

12. There is no negative marking for incorrect answers. 12. el A SIS TR TTA hel S g




APR - 11224/T1—A



APR - 11224/I11—A

Economics
Paper II

AL
gyueRt 11

Time Allowed : 120 Minutes] [Maximum Marks : 200

Note : This paper contains Hundred (100) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

TOAT @ A1 TRAUCThG THY TR (100) TgEE WEA fool ofed. Yo TRe & (2)

U7 STRd. T WYY Wi

1. As per Pollution Haven Hypothesis,

1. Ygu go IREReTITHR SgUsed Hu=

Multinational Companies that

choose to physically invest in foreign

countries, tend to (re)locate to the *\J;dctul\qw FIUIET GO feedrd.

countries with ........c..c......... )

A) TR Afees ITereHd
(A) Greater availability of the (&)

lab » fophar wa
abour (B) Faid ! TAERE A fohal Taid

(B) The lowest environmental

FHRIT AT
standards or weakest enforcement

(C) The highest environmental (C) Hared TAEig A fHar gaid

standards or the most strict

FOR STHASTSITIIN
enforcement

(D) Lower availability of the labour (D) AN A U

3 [P.T.O.



Environmental Economics involves

question of ..................

(A) Excessive production of

pollution by the market

(B) Insufficient protection of
natural world, due to market

failure
(C) Both of the above
(D) Only (A) is true

.................... method puts direct
question to individuals to determine
how much they might willing to pay

for environmental resources.

(A) Contingent valuation method
(B) Travel cost method

(C) Hedonic pricing method

(D) Preventive expenditure

method

How does the government intervene
in the supply and demand of

demerit goods ?
(A) By giving tax rebate

(B) By applying the sales tax on
the goods

(C) By increasing production

(D) By increasing consumption

APR - 11224/T1—A

O B

(A) =TSR YSUUI= SAfeeh  ScdreA

(B) TSR STHRRIS it S
TP &
(C) i <%

(D) ®K (A) I 3R

.....................

q5d S 92 9¥4 fa=md
F1 § TGO HEEAETS fad T T
Togh  AfTed.

(A) 3THEHE HeTh
(B) worq @
(C) i R

(D) wfqeuecas T«

SIS AT AT ST RS W

FIMIHR TEALY Fld 7

(A) T FIAd oA

(B) TEER FX STHTEA
(C) SeE aTed
(D) SUHF e




As part of National Climate Change
Policy, Indian government is
planning to raise the installed
capacity of renewable energy by the

year 2030 to :

(A) 175 GW

(B) 200 GW

(C) 250 GW

(D) 350 GW

Significant factor pointing for

demographic dividend is ................

(A) Low dependency ratio

(B) High dependency ratio

(C) Medium dependency ratio

(D) High and medium dependency

ratio

APR - 11224/I11—A

ST B SGel RO 9N WU,

TR TR 2030 T 18T Serdl

AT AREd 318,
(A) 175 GW
(B) 200 GW
(C) 250 GW

(D) 350 GW

o o~ ¥

U fefogeewrdl giad wTom

(A) FH AT FHIO

(B) S=9 Tacfsicd W
(C) HEIH Toclfoed A

(D) I=a M HeaH TEaiad O

[P.T.O.



Consider the following specific
stages of demographic transition

associated with economic

development (2012) :

(1) Low birth rate with low death

rate

(2) High birth rate with high death

rate

(3) High birth rate with low death

rate

Select the correct order of the above

stages using the codes given below :
A) (1), (2), (3)
(B) (2), (1), (3)
(©) (), (3), (1)
D) (3), (2), (1)

Which of the following is not the
mission under NAPCC ?

(A) National Solar Mission

(B) National Mission for Enhanced

Energy Efficiency
(C) National Mission on Air

(D) National Water Mission

APR - 11224/T1—A

aiferes fawmEref (2012) Hefea

ARSI T Yeh a1 Wieiel fafyrs

o] fa=aR &9

(1) =Hl e S0 Kl Jog 8L

(2) =9 Tg TUHe ST SHQL

(3) HH TF TUTE I=d L

Tl feeea Sieer amR T ald

TwAE] AR A HEEl
A) (1), (2), 3)
(B) (2), (1), (3)
(C) (2), (3), (1)

D) 3), (2), (1)

Tl Tedeh! shioT 314E NAPCC 3faiid
Iq AR ?

(A) TS 9R) 1fEm

(B) affm == wderaarst s
aAfE

(C) U= g1 AR

(D) T S AT




10.

Only in ............. state sex ratio was

favourable in 2011, there were 1084

females per 1000 males.

(A) Bihar

(B) Punjab

(C) Haryana

(D) Kerala

Harris Todaro model describes the

interrelationship between .............. .

(A) Growth and migration

(B) Unemployment and inflation

(C) Growth and unemployment

(D) Unemployment and migration

APR - 11224/I11—A

2011 ¥& e

TOR TR 81, Ui 1000 TESIHA

1084 Hfgenm B

(A) feBR

(B) U<

(C) =R

D) HB

WERHE Y™ 90 .

(A) &I ST TR

(B) SRS 3T <Sears

(C) gt oafor sRsmd

(D) SUSIT SO Tt

[P.T.O.



11. Match the following :

(1
2)
3)
(4)

@)

(i1)

(€219)

(tv)

(A)

(B)

(&)

(D)

Types of Goods
Public Goods
Club Goods
Common Resources
Private Goods
Attributes

Excludability and Rival

Consumption

Excludability and Non-Rival

Consumption

Non-Excludability and Non-

Rival Consumption

Non-Excludability and Rival

Consumption
o 2 Q) @
G) @i @ Gv)
@ @) ) @)
Gi) G) @) G)
@) @ G G6Q)
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11. S Jeedl

TEET YRR
(1) s a5
(2) FT9 TH
(3) wfeeh HETEH
(4) T 9%
Tt

() aforar suftr wfaeae susdm
i) aftaar enfor wfaegeifaRfea susim
(iii) srafswaar anfon wfaeTaiforfea sasim
(v) sraferaar emfor wfaeae Igedim

o @ B @
A) @) @) @ Go)
B) @ @) G @)
C) @) @) Gv) @)

D) @) @ @) G




12. Match the following :

Principles
(1) Equal Absolute Sacrifice
(2) Equal Proportional Sacrifice
(3) Equal Marginal Sacrifice

Formulas

dU(Y-T)
d(Y-T)

@) UY) — UY — T) same for all

l same for all

U(Y)-UXY -T)

(i11) same for all

U(Y)

1 @2 @

A) @) @ O

B) @ O @)

C) @) @ @)

D) @ @) @
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12. SrEdl Jeodl :

<
(1) g9F e =m
(2) F9F YHORIR &
(3) HEHEE @

o

dU(Y-T) .
J(Y ) Toe W

@) UXY) — UY — T) gaiare |99H

UY)-UXY -T) .
(iii) oY) TS FHH

@ @ @

A @) @ @

B) @ O @)

©) @) @O @

D) @ Gu) @

[P.T.O.



13. According to recommendation of the

15th Finance Commission, various

criteria and their weightages are

suggested for horizontal devolution

amongst states. Match the following

criteria and weightages according

to it :
Criteria
(1) Population and Area (each)
(2) Forest and Ecology
(3) Income distance
(4) Tax and fiscal efforts
(5) Demographic performance
Weightages
@) 45%
@) 2.5%
@) 12.5%
(v) 15%
) 10%

o @2 @ @ 5)
A @ @O G W) (i11)
B) (v) @@ @O @) (ii0)
C) @) @ @ G )
D) @ @O @) Gv) G

APR - 11224/T1—A
13. Herem fom eminmen RrerEiger,

T A/ 3eed  BETalurEe!

fafay fere @ T oo aerd
- or T : .

Al Siredl Sl

iG]
(1) orereer e quRer (W)
(2) =4 AT gFieRm

(3) JUH K

(4) T MO TSHREE GIA

B |

(5) THEEATTES S

SIHED
@) 45%
@) 2.5%
@) 12.5%
() 15%
(v) 10%

L @ & @ 6
A @ O G @ G
B @ @ O @ GG
© @ @ O G@ @

D @ O @ @ 6@

10



14. According to the budget estimates

of union budget 2023-24, the fiscal

deficit for the financial year

14.

APR - 11224/I11—A

hard SAdHHET 2023-24 1 TTHAFHIA
FEEUR, fa<ia as 2023-24 =i

USRI 2 T IIMATG  Sea=IT=A1

2023-24 is estimated to be ............. | e At 3R
of GDP.
(A) 6.9%
(A) 6.9%
(B) 6.5%
(B) 6.5%
(C) 55%
(C) 55%
D) 5.9%
D) 5.9%
15. According to Wiseman-Peacock | 19 et - Taehieh FHATIER fereard aftom
hypothesis, what is Displacement =T w2
Effect ?
(A) The movement of public (A) STIIGH FHEhET SRH D!
expenditure from unproductive AR TS =g
to productive level
(B) Change in the source of public (B) WIS SeI=T=al HIqHES 2o
revenue el
(C) Change in the structure of
public debt (C) dresieh weli=a @Hd oed
(D) The movement of public &
(D) S oHdH Tideias T 3T
expenditure from old lower level
to new higher level qTdesiehs rasI-eh Weid BV 1@
11 [P.T.O.



16.

17.

18.

Integration of discretion and
automation into a hybrid form of

fiscal policy is called :
(A) Built in flexibility
(B) Formula flexibility
(C) Expansionary policy
(D) Contractionary policy

The zero base budgeting was first

adopted in :
(A) India
(B) Germany
(C) USA

(D) France

Which of the following is likely to
be the most inflationary in its

effects ?
(A) Repayment of public debt
(B) Repayment of internal debt

(C) Printing new currency to

finance the deficit

(D) Borrowing from the banks

16.

17.

18.

APR - 11224/T1—A

oy foxig grome Sevia fagsmfuftsa
farde ot amfor et foxia gfsman

(A) Iaffed e

(B) EAHR e elehdl

(C) Tomrcas foi™ |Ro
(D) HeHfaa €

IENEIRG  SAfHEHeur=  AHATSA

FAYYH IO UG shedl Tedl ?
(A) Wd
(B) AT
(C) e

(D) w4

W] HITAT HHhT  qAIdT

TEMSd SAfeeh HOme. B 2

(A) TENIHE® e Wahe

(B) 3Ida woidl Tdhe

(C) Torxiid g2 9% hIRuArErd! Td e
BIqul

(D) dhTHST FHt B0

12



19.

20.

21.

The idea of ‘democratic

decentralization’ in India was

popularized by :

(A) A.D. Gorwala Committee, 1951
(B) B.R. Mehta Committee, 1957
(C) Ashok Mehta Committee, 1978
(D) Kelkar Committee, 2004

Which of the following taxes is most

likely to be regressive ?

(A) Tax on inherited property
(B) Tax on income earned

(C) Corporate income tax

(D) Goods and Services Tax (GST)

Who among the following advocated
and active fiscal policy to reduce

unemployment ?

(A) The classical

(B) The Keynesian

(C) Both classical and Keynesian

(D) Monetarist

19.

20.

21.

APR - 11224/I11—A

oo

NSIETUERE)

Heuld wivh Y=RE smurel ?

[aY

She L0l B TeheuqT WAl

(A) WEl. IEren |wiHd, 1951
(B) .. #Hear Hfhdl, 1957
(C) felies Heal wffwl, 1978
(D) “hosehY H|iHCI, 2004

e B FE A g
e ?

(A) TEEFRM Haied <l &

(B) TEeF=Ifeld Scq=Taiel Y
(C) frm =T
(D) =& o Hell

TIATAdHRT HITH IV HH

FLAEGSTAT Wichd TSIRISIE  ERoT
TERR el ?

(A) AR

(B) et

(C) TSIl TAAAR] 9 HudaK]

(D) TEER!

13

[P.T.O.



22.

23.

Theory of Money Supply makes
money supply a function of ........... .
(z) High-powered Money (H)
(z1) Currency in Circulation
(zit) Credit Money

(tv) Currency Deposit Ratio (c)
(v) Time Deposit Ratio (t)

(vi) Reserve Deposit Ratio (r)
(A) (@), (1) and (Zit)

(B) @), (ir), (Gv) and (vi)

(C) @, Gv) (v)

D) @), Gv), (v) and (vi)

According to Okun’s law, 1 extra

point of unemployment costs

percent of GDP.
(A) 2%
(B) 6%
C) 1%

D) 3%

22.

23.

APR - 11224/T1—A

oo eeAren H fagiamed femn

(iv) =& o TUIRR (c)
(v) WA o9 TUIRK (t)

(vi) TEE o TURR (r)
(A) @), (@) 00T (i)

(B) @), (i), (Gv) AT (vi)
(©) @), Gv) ©)

D) @), @), (v) =T (vi)

I 3cae (GDP) @ &l
(A) 2 =
(B) 6 ¥
(C) 1 =k
(D) 3 =

14



24. Match the following :

25.

(@) Increase in Bank Rate

(b)

of Government

Securities by the Central Bank

Purchase

(¢c) Reduction in CRR

(d) SLR

(z) Can be used as a qualitative
measure

(it) Increases the cost of credit

(ii1) Induces more credit creation

(tv) Increases the availability of
money supply with the
commercial banks
(@ B (© (@

A) @) @ @) @)

B) @ G @ G

C) @ Gv) G @

D) @) G Gv) @)

Principles of Supply-side Economics

focus on .....coevueeennns .

(A) Shifting AS curve to the right
(B) Shifting AD curve to the right
(C) Shifting AS curve to the left

(D) Shifting AD curve to the left

APR - 11224/I11—A

24, WAl S el

25.

(@) &% T 9@

(b) T Sehgl TR UEH=T Ee]
() U@ TEd Ul Hamd
(d) Suier JEar JHm

() TOMHS U™ TWUH Sl Adl

(i) TauemT=Al fRudia de

(iii) fers it e

(jv) SATIL Aheheled YT STTRIT
aed

(@ ®) (@ (@
A) @ @ @ G
B) @ @) GG G
(C) @) Guv) @) @)
D) @) @) Gv) @

qLAGATAT STS[eAl  HUUAIA dw

qER 9 <.

L= P

(A) AS T ISEIRE TIHTI0

SN

(B) AD 9% 3ISEIhe TLhigul

(C) AS T EEihe HIh{gul

oo

(D) AD 9% SIHihe HIh{gol

15

[P.T.O.



26.

27.

The Baumol’s theory of transaction
demand for money is definitely an
improvement over the Keynesian

theory which states that

(A) The transaction demand for

money is interest elastic

(B)

The transaction of demand for

money is interest inelastic

(C) The transaction of demand for

money is income inelastic

(D) The transaction of demand for
money is income and interest

elastic

Expansionary Monetary Policy
income level with

equilibrium rate of interest.

(A) increases, fall

(B) decreases, fall

(C) increases, increase

(D) decreases, increase

26.

27.

APR - 11224/T1—A

SSAMATE YR S8R el AT

o

1R

fagid @ Idg &= fagiaEda

AR 3T S shre TG o wiqared

....................

(A) eIl =EER Fq@eE! AR #
S Adfueh IEd

(B) Tmm= R BqEEEl AR €

=S STdieeh 39

(C) Tmm=h =eeR BqEEEl AN €

3T STelareh 3TEd

(D) Tem= SER BqEEEl AN €

ER U SERGEICE RS L)

(B) &HT BId, 99 FHH Bl
(C) dmed, 9v el

(D) FH BId, Tl

16



28.

29.

30.

As per Output Method of measuring

National Income, value of output

produced by each firm equals ...... .

(A) Total Sales

(B) Total Wages

(C) Total Sales + Change in
Inventories

(D) Total Inventories + Total
Inputs

Z, (P, t)x(Q0)

100
. (B,0)%(Q0) e

is

formulaof ......covvevvvneeennnn.. .

(A) Paasche Price Index

(B) Laspeyre’s Price Index

(C) Consumer Price Index

(D) GDP Deflator

A balanced combination of safe and

risky assets relates to ................ .

(A) Keynes Liquidity Preference
Theory

(B) Tobin’s Portfolio Approach to
Demand for Money

(C) Baumol’s Inventory Theoretic
Approach

(D) Friedman’s Asset Demand for

Money

28.

29.

30.

APR - 11224/I11—A

TS 3T HISTUATAT 3cAEH TG T,

U FIEIHESA Ieqifed o]

(A) THU foashigde

(B) THU AdAEd®

(C) waH forent + TGRS SEeTgae
(D) THT TEHET + THY AGMETD

Z, (P,t)x(Q0) «
Z,(P,0)x(Q;0)

............

(C) SuvErT foma ey

(D) TYE MG IR Hehradh

i enf Srei=a Ao g

HASH & Hehou ]

T8,

(A) == Jrea vEat fagra

(B) Afer=n Hemen wmTOien JemEe
gftesh

(C) STHHET aEgETel Hgi-eh gieshd

(D) frerT=n UsT=n ART=T ATTH

St

17

[P.T.O.



31.

32.

33.

If consumption function is given by
C =200 + 0.75 Y, then the value

of multiplier will be

(A) 3
(B) 4
(C) 5
D) 6
If all the elements in a set X are

in a set Y, but all the elements of

Y are not in X, then X is :

(A) Union set

(B) Power set

(C) Proper subset

(D) Empty set

If y is a function of x, find the

mathematical form from its inverse

function :

(A) y = flx)
B) y = f @
© x =Xy
D) x = fly)

31.

32.

33.

APR - 11224/T1—A

99T e C = 200 + 0.75Y feor

AT, U o ©
A) 3
B) 4
C) 5
D) 6

ST HF X A §d uesh w9 Y 7
A, W 99 Y o Wd wed 99 X
el A, W 99 X § %

(A) g |

(B) R ¥

(C) W &=

(D) TS §H

SRy ® x @ o 38, W A=A AW

o rd TORE 9 &6l

(A) vy = flx)
B) y = flw
© x =Xy
D) x = fly)

18
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34. Suppose the function you want to | 34. TRl HewH & Ifwod THcTA HeH
maximise is given as n(q) = %q2 -90¢g +300 feoiet aTTR.
1
n(g) = -q*-90q + 300, Obtain ¢ :
2 n(q) WETH ITHAM q el
that maximises n(q).
(A) 90
(A) 90
(B) 390
(B) 390
(C) 300
(C) 300
D) 210 D) 210
.. 1
35. Suppose demand for the oranges is 85. WAST WATH WrM g =9 _Ep A
1 TR Taee '
given by the function ¢ = 9—§p. et ame. T q'(p)
Find the differential coefficient ¢'(p). .
1
1 _=
A —5 (&) =3
1 1
(B) 5 (B) 9
C) 4 ©) 4
D) 9 D) 9
19 [P.T.O.



36.

37.

7 2 3
Suppose matrix A = |4 8 1
5 12 4

is multiplied by the identity matrix.
What you will get ?

7 2
@ |+ 8 1
5 12 4
o ,
® 2 10
0 0 1]
[0 0 O]
© |2 90
0 0 0
(7 4 5
D) 2 8 12
3 1 4

Which one of the following is not the

test of adequacy of index number ?
(A) Time Reversal Test

(B) Factor Reversal Test

(C) Circular Test

(D) Bowley Test

36.

37.

APR - 11224/T1—A

7 2 3
TS 9RUT A = |4 8 1|=m
5 12 4

I WRUH [0l Tl i
fese 2

72
@ |+ 81
5 12 4
- o
® 2 10
0 0 1
0 0 0]
© [0 00
0 0 0
(7 4 5
o |2 8 12
3 1 4
WTATTUeh! IO TR yHeRT=a TaTaa=]
<=0 AR ?

(A) FTes FhH ==

(B) ®eeh F@RY @TEUH
(C) =fsha =r=roil
(D) el ==
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38.

39.

Which of the following is true in case
of geometric mean ?
(z) It is used to find the average

percent increase in sales,

production etc.

(i1) Used in construction of index

numbers

(zii) Most suitable when large
weights have to be given to
small item and small weights to
large items

(A) Only (@) is true

(B)

Only (i) and (iiz) are true
(C) (@), (i) and (iii) are false
(D) @), (i1) and (izz) are true

The empirical relationship between

mean, median and mode can be

expressed as follows :

(A) Mode = 3 Median — 2 Mean
(B) Mode = 2 Median — 3 Mean
(C) Mode = 3 Median — 3 Mean
(D) Mode = 6 Median — 5 Mean

38.

39.

APR - 11224/I11—A

i ATEaT=A ST Seierieh! ShIon

faam seR e ?

(@) I 9 faehl, S sefe Aete

TEG gfaed 9 evarEd g

(i) TAdeTer IR HLOATEE SaLel Sl

(i) Sieg1 Biedr wehten offusw  ofu
HiGN SeHhIel HH NS Il
FT deal SAfereR SUE ST

(A) Hda (i) T 3T

(B) @@ (i) A0 (ii) S&X

(C) @), (i) 3w (i1i) I ST
(D) (), (i) 3 (i) SRR e

TS HTeA, HEAN S Sigeieh ATdiel
STIEST oY WETIATe e T
Idl

(A) Sgc& = 3 AL — 2 |
(B) 9geish = 2 WM — 3 WA
(C) 9gdsh = 3 AL — 3 |
(D) sgcT® = 6 HEXFT — 5 HIEg
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40.

41.

42.

If three dice are thrown once, then
there will be how many exhaustive

number of cases ?
(A) 18
(B) 108
(C) 216
D) 72

Which of the following is not a non-

parametric sampling ?

(A) Judgmental sampling
(B) Convenience sampling
(C) Stratified sampling
(D) Quota sampling

Which of the following is not used

to test the stationarity ?

(A) Dickey-Fuller Test

(B) Autocorrelation Function Test
(C) Engle-Granger Test

(D) Phillips-Perron Test

40.

41.

42.

APR - 11224/T1—A

SR T T Therd Thehdl, T a9 fHeeom
gfegel aftory fRdt atedie 2

(A) 18
(B) 108
(C) 216

(D) 72

WU RV TR T fee

Igdl A ?

(A) fofarerss g fae

(B) Ut A1 fere

(C) wfen g frae

(D) =l T Fae

feoa= = m=9vil SvEEl ETeteTde!

FHIUET A Al Sd A 2

o n

(A) femhi-Her =r=oh

(B) @¥:HgHaY ol ST=vil
(C) USA-T=R ==l
(D) fRfam-Ta ==
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43. For which of the following the 2SLS | 43. B e deh! SIvEre! 2SLS TgHT Hatd
method is most appropriate method qFY SRS UEHT oR 7
f estimation ? o
ol estimation (A) 319 Y HHTR
(A) Under Identified Equation S .
B) ddrda HATd HHIh T
(B) Exactly Identified Equation (B) :
(C) Exactly Unidentified Equation (C) A SR HHIH
(D) Over Identified Equation (D) faafiama TR
44. Which of the formula is used for | 44. THAT WEHSL IUMHTHT ALIUIFAT
testing significance of the sample IS WIEIeTueh]  Shivcal AT
5 ?
correlation coefficient ? RS el Sl o
() ¢- D=2 &) t:rﬁﬁ__?
J1-r2 ]
B) ¢ -l ®) “Q?f—f
V2 - r2 ]
() t:r\/;_3 () t:i/\é;__f
J1-r2 :
D) t=rinr? D) t:%
V14712 d
45. IfY is dependent and X, and X are 45. SR Y € 9 #Afe Xo @ X3 & T
independent variables, then rq, 4 =] 3T o 193 T el = HISTH
measures the following : —
(A) Correlation between Y and X,
(B) Correlation between X, and Xg (A) Y o X9 REIGESERED
(C) Partial Correlation between Y (B) X, arfor Xg Yl TeHaY
and X3 (C) Y amftn X, wefiet etiferr Hewed
(D) Partial Correlation between Y ‘ ‘
and X, (D) Y anfor X, Aefrel AR Geda
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46.

47.

According to Ronald Coase, why do

firms exist ?

(A) They exist to specialize in

production

(B)

They exist to make division of

labour feasible

(C) They exist to diversity the

production

(D) They exist to economize on

transaction costs
Why is the production possibility
curve concave ?

(A) There is a difference in the cost

of production of the two goods

(B) There is a difference in the price

of the two goods

(C) There is a difference in the

income of the two consumers

(D) Resources are not completely
adaptable to alternative uses
because of the specificity of the

resources

46.

47.

APR - 11224/TT—A
UATeS higl a7=A1 Hd, STNTEE 6T

T 9d ?

(A) o SHEA TagIeiento SivamEmst

STETcaTd 3T

(B) @1 HfaYSH I HITATHIS]

STETcaTd 3T

(C) = 3ae= fafafeertor sivamErs

STETcaTd 3T AT

(D) ™ =HERR ©F fHAM T@uarEet

AT ST

IS YERI] 95h STaaehTeh Rl 3AHl 2

(A) TH S= IURT EEHE Hish

ST
(B) €9 a&i=n FhRAdmel wis orel

(C) TF SUTERIT= SO ek STl

(D) HEmeAre ATyl wEes
THiEl qravHed quittl Sw@eH

HIERT TEd
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48. Why does the marginal rate of | 48. T TN TH-A1 TN SFHeI HH
substitution of one good for another el T N
diminish ?

(z) Satiability for a particular good (&) THINTRE SELAT ST
(i1) Goods are imperfect substitutes (i) & WERE 30 qHT ST
of each other
(i) SudERE O fer ewd
(zii) The income of the consumer is
fixed (iv) _OIWEI:T ed! HHd STSTHT
(Zv) Diminishing marginal utility of
(A) ®F (iii)
goods
(A) Only (iii) (B) ®e (1), (i) 30 (iii)
(B) Only @), () and i) (©) W (@), (i) A (i)
(C) Only (@), (i) and @Gv)
(D) e (d), (Gii) AW (iv)
(D) Only (@), (iit) and (iv)

49. In case of Giffen goods, the negative | 49. T q*‘i‘*“ ST, SR Seq=1 I
income effect is ............... the qgegar gfoomgr 37
substitution effect.

(A) = 99H
(A) equal to
(B) Taf S
(B) greater than
(C) lower than (©) ¥ ¥
(D) the same as (D) HrEry
25 [P.T.O.



50.

51.

52.

If one person can be made better off

without making any other person

worse off, it is called ............... .

(A) Maximum social welfare

(B) Pareto efficiency

(C) Pareto improvement

(D) Interpersonal comparison of
utility

What is meant by economic cost ?

(A) Opportunity cost of the self-

owned factors

(B) Accounting cost + Opportunity

cost of the self-owned factors

©)

(D)

Which of the following statements

is/are true about the Kaldor-Hicks

Explicit cost

Minimization of cost

criterion ?
(z) Hicks has given his criterion
from the losers’ point of view
(z1) Kaldor has given his criterion
from the gainers’ point of view
(A)
(B)
©)

(D)

Only (7) is true
Only (i7) is true
Both (1) and (ii) are true

Neither (i) nor (ii) is true

50.

51.

52.

APR - 11224/T1—A

S IV ST THTEIT 52 7 il
Teh] FFd=a1 GHIYFE 9@ gadl Iq
............ a:lﬁ w.

A, T A

(A) HETH YHISR Hedml

(B) W& AT/ hTierHal

(C) W21 YR

(D) U= STaCATRTTd el

o T =N W ?

(A) TTHITR AT 3T k=T Heie

(B) wiEfera een Awfad == +
T =41 ScdIe SigehTe Teierd

(C) 3= &H

(D) feem ==

TTeeish! H faam wfeeR-fead

[RERICEHG IR C T T S

() Teorm = e 9Uya Sreredr=
gfedrE feen o

(i) THlcerd T9an TIery ararest=a

gfesmmr foen =
(A) Hdes () TA T
(B) e (ii) ®W &8
(C) (@) @i (i) <& R Aed
(D) () fan (i) TreEt R AR
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53.

54.

Assume that there are two firms in
the industry. Firm I have to choose
among five strategies and Firm II
can react by adopting any one of six
open strategies. Similarly, both
firms have counter strategies. Thus,
find how many total payoffs will be
available for both the firms.

(A) 6

(B) 11

(C) 22

(D) 30

In what situation, profit maximises :

(A) When the difference between
total revenue and total cost is

highest

(B) When the difference between
total revenue and total cost is

lowest

(C) When total revenue is less than

total cost

(D) When total revenue and total

cost curve both are the same

53.

54.

APR - 11224/TI—A
HHST SEANIG G UGdT 3Aed. dfee

fadien o WY e S o
afor g e Wl Wedr oI den]
SHITATE! Teh TR Hdfshal 3% Tehd.

LI

= AN, slgl

TSR 1! Yedias! Wehy fohaft oo

~

3T BlEd 2 o T

n

Teiehe Hfd Tom

Tt 37Ted.

(A) 6
(B) 11
(C) 22

(D) 30

IOl R % Afeehdy sl ?

(A) SIe81 TR 9Tl o7 W
TS W qaiesh STl

(B) SIe8l TR WIwl (07w
TEMHA Bk Had FHH Al

(C) e8] TR UIwll TRyl fehwiriet et
ST

(D) feel TehUT Ursit &7 ot @ osh

A&

Il

SHIA SHHdId
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55.

56.

Which of the following is shown by
the Grand Utility Possibility

Frontier ?

Select the correct answer from the
codes given below :

(0) The distribution of welfare
between individuals

(i1) The Pareto-efficient outputs of

two products
(zii) Pareto-efficient allocation of
factors into two products
(tv) The Pareto-efficient outputs of
more than two products
(A) (@), (@) and (v)
(B)
(C)

(D)

(z) and (iz) only

(z1) and (iit) only

(@), (1) and (i)

What is the reason to used

stockpilling policy by entrepreneur ?

(A) To decrease the cost of
production

(B) To increase the cost of
production

(C) To increase the consumer

surplus

(D)

To increase the taxation

55.

56.

APR - 11224/T1—A

ETATTUehT hIUd Wed IUHINIAT IRl
e gvifae S ?

oo N

Ere foetedn wenyd I sw e .

() TIHRIAES e T

(i) TF oY TE-hEeEH See

(iii) TF SRS TR Nel-HEem

q1eyq

(iv) THYET S a%gd W-FHrEem
IARA

(A) @), (i) = (v)

(B) () M0 (ii) s

(C) (ii) 3T (iii) Heles

D) (@), (@) & (i40)

ISR TS A G SR

FE HRO I ?

(A) IR =99 HHI HLOAES

(B) 3EH =59 AIefguaTEs!

(C) e TAIoMeed aTefauaren L]

(D) +X FEISvAR
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58.

59.

.............. refers to the action taken by
central bank of the country to cancel
the impact of its foreign exchange
market intervention on money
supply.

(A) Sterilization

(B) Capital outflow

(C) Acceleration

(D) Multiplier

The basket of goods included in the
GDP deflator includes

(A)

Only Domestically Produced
Goods

(B) Domestic Goods as well as
imported goods

(C) Only capital goods

(D) Only Consumer Goods

For narrow measure of money, which

of the following options is

incorrect ?
(A)
(B)

Note in circulation

Deposits of institution such as

UTI, IDBI, IFCI
(C) Cash reserves on hands with all
banks
Deposits held by a bank in other

banks

(D)

58.

59.

APR - 11224/I11—A

WU YA qFad] s
MY YL A ISR s&daraT=

5l [aSAEd U9E /E HUAE
heledl hEEdl ey .

(A) FYreerg

(B) vizaa wfgais
(C) wa

(D) TR

»»»»»»»»»»»»

ATl

(A) =hdos <IN Seaifed heledl o

(B) QI o T8 ST hoted] a&]

(C) ®aa weael a%]
(D) e IUUTE TE

U9 TeRfad ATATETS!, Wefterd]

FIUM T TR R ?
(A) ST e

(B) UTI, IDBI, IFCI 9R%EaT &=
=i

(C) Ta Shihe e U@ el

(D) S Al SehHed Saciedl ool
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60.

61.

62.

What distinguishes a bank from a

non-bank financial institution ?

(A) Accepting time deposits as a
courtesy

(B) Accepting demand deposits

(C) Lending

(D) Accepting loans and borrowings

financial
that pool the

resources of many small investors by

are

intermediaries

selling them shares and using the
proceeds to buy securities.

(A) Derivatives

(B) Insurance

(C) Mutual funds

(D) Provident funds

Which of the statements gives an

accurate picture of the effect of the

increase in the repo rate ?

(A) The money supply in the
country will decrease

(B) The money supply in the

country will increase

in the

country will increase initially

(C) The money supply

and then decrease
(D) There is no effect on the money

supply in the country

60.

61.

62.

APR - 11224/I1—A
deh aMftT SR foxia Geem amed
I FE 3ME 7

(A) U1 RUA FFeN & TR
(B) WO It TRl

(C) =si 30

(D) &St =7 s TR

............... T ST TeRy 3TRd 1 o7
TR TAeheNE YeTH faed et
et BREl swramwrdt fHesreren
THUET IR e el GHEE Th
AT,

(A) Sfedis

(B) fem

(C) =[=g3Td He

(D) wfosy fafe e

IO faem Y91 SO drerea g
3R ot <d ?

a N

(A) M JeTE1 YRS FwH R

(B) <¥MAA TuTen qREel Ated

(C) <IN FeT el YEardicll e

Ao FaT HHT TR

(D) SEGIE = YRacarer HIvTaTE]

aitomy g9 AT




63.

64.

Capital market deals in lending and

borrowing of .................

(A) Short term credit

(B) Medium term credit

(C) Long term credit

(D) Both medium term credit and
long-term credit

Which of the following services, is

not provided by the capital market ?
(A)

Provision of Underwriting
facilities
(B)

(&)

Participation in equity market

Expert advice on management
of investment in industrial

securities

(D)

Capital tax calculation and

consultancy based on that

64.

APR - 11224/I11—A

(D) HEIH U™ shise ST STEehTei™
Hice el

TIAICTIeh! ShIURT Tl TEaet SR e

T ?
(A) ewEfen ghagrt Tg

(B) sl Aehensd Weum

(C) it farRREiomEier JaavEh =

AT O Hooll <drd

(D) et ST UFET 0T =Ae AT

Hedl

65. First step in the field of mutual fund | 65. T He AN S Uleel Thal
industry happened with the setup of O TRR 3107 Tgreg depd =
................. by Government of India T $el.
and the Reserve Bank.

(A) eIl
(A) LIC
(B) STt
(B) GIC
(D) IDBI (D) ST
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66.

67.

Which of the following is not
included in the supply of money

measure ?

(A) Inter-bank deposits

(B) Demand deposits with financial

institutions on a net basis

(C) Currency and coins are

available to the general

population

(D) Deposits with the Reserve Bank

of India (RBI) in addition to the

above
Covered interest parity theorem
takes ...cccoeeeeeeinnnns into account.

Spot and forward rates plus

interest rates in two countries

(B) Spot and forward rates plus call

money rate

(C) Forward rate and call money

rate

(D)

Spot rate and interest rates in

two countries

66.

67.

APR - 11224/T1—A

Yo QIESATA WTCHeTieh] hIvTeH]

M= §Hee TRl ?

(A) ST-d&

(B) 1o smuRer fa<ia weaime Aol
Ell

(C) Td= 27rfor AT FEETHTETS!
IAS 3R

(D) aia =afafeaa yide fees o
(RBI) 98 o4l

...................

TIfed S 9EA WHT ®
IEEIRGIRGE

(A) Tz 3nfor wiee = e <M
I e S

(B) Tfe 31fon witere =X fymamm |t
RSy

(C) wiare &L onfor Anmo 29 Yoy

(D) fe g iy §F SYMHE A =arsiel
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68. (i) India adopted LERMS in 1992. 68. (i) 1992 Wed W@ LERMS =
(@) In 1993, dual exchange rate .
FaTd hall.
system was replaced by a
unified floating exchange rate (i) 1993 H&A ¥RAE ged fafma )
in India. - & _
JUITAT SIS Wehlchd AXANITHT X
Identify the correct statements :
et AR et el
(A) Statement (i) is correct, (ii) is
incorrect g faum slee@n
(B) Statement (i) is incorrect, (i7) is
(A) faum () 9mF, (i) sEM TR’
correct
(C) Statements (i) and (i7) both are (B) faem () e/ o (i) 7w 1R
correct
(C) faum (i) emfur (i) T8! AT Aed
(D) Statements (i) and (i) both are
incorrect (D) faum () =1t (i) = 3T 3R
69. Devaluation of the domestic 69. E&qurq wqqu-”a FTHTT TR ?LE E;{
currency will help to eliminate the FIE IR A, AR
trade deficit, if goods are ............. in ,\
A= HAdAdld.
nature.
(A) Less elastic (&) FH @
(B) More elastic (B) Aty <Iaraeh
(C) Completely inelastic (C) Tj-fq-lﬁ EREIEED
(D) Less inelastic (D) = seafas
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70.

71.

72.

British Bankers Association comes
up with the benchmark rates for all
different securities of different
maturities. It is commonly known

AS eeeeeeeeeeeeeenaeaees .
(A) Mumbai Interbank offered rate
(B)

(&)

London Interbank offered rate

Securities Exchange offered

rate
(D) Covered Interest offered rate

Which of the following is not
included in the current account of

the Balance of Payment ?

(A) Insurance Payment

(B) Govt. not elsewhere considered
(C) Transfers

(D) Bank’s overseas deposits

Different prices of any homogenous
commodity in two different markets,

leads to ..................
(A) Speculation
(B) Hedging

(C) Arbitrage

(D) Dumping

70.

71.

72.

APR - 11224/T1—A

forerer ded STEIfaUS™ SFTaTes Hed =
wd = et gt gaEel I

(A) HaE TP MR T

(B) ©eT oo AT X
(C) e ToHaTS AR €L

(D) Twe AN B T

LV S o VO WL G Y S
Cdlcdenl enlVid e % cqdeRall =]

96 W HHOs g AR ?

A) fam ==

(B) &R IT fa=mE Saad
(C) BEm
(D) seh= WM 3

~_ = LY = n
?-ﬁ:f dildilec ]l dv[Hodlel ohlVicdlsl

TEHEAE TR e R
.

(A) Fez/aHs

(B) &Y =erRR eul/efsm

(C) @R

~_ o

(D) HeATEurd! ek
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73.

74.

@

(i)

(A)
(B)
(&)
(D)

Offer curve incorporates
elements of both demand and
supply.

The offer curve of a nation can
be derived from the nation’s
production frontier, its
indifference map and various
hypothetical relative commodity
prices at which trade could take
place.

Both the statements are true
(@) is true (ii) is false

(@) is false and (ii) is true

Both the statements are false

Match the following :

(a)
®)
(c)
(d)
@)
(i)
(i)
(iv)

(A)
(B)
(®)
(D)

Inter-industry trade
Intra-industry trade

Product life cycle

Factor price equalization
Vernon

Samuelson

Acquired comparative advantage
Different factor endowment
(@ B) © @

() Gi) @) @)

@  Gi) Gv) @GD)

@) @O @) (o)

@ @) @) @G)

73.

74.

@

(i1)

(A)
(B)
(&)
(D)

(@)
)
(c)
d)
@)

@i1)

APR - 11224/T1—A
ST oI T 01 ReTaT A1 S
SRl HHEY il

TEE S ST T (I3 helell
oSh) QAT Sealed HHT, =l
ETETAaT AaRTen oA1fur fafaw
T Hae o= fhAdtere

e e =R 8% Yehdl.
S faum aieR eTmRd

(i) SRR (i) F A8

(@) =k S (i) IS 3R
el faum gere sed

e &

-SSR
SNl SATIR

e ASIEEEE

e fohAd FHMIRL
A

LT

(i) THesaten qaTcis HRR]
Gv) T9=1 =@ <ol

(A)
(B)
()

(D)

(@ ) © @
@) @) @ @)
@ @) @) @)
@) @ @ @)
@ Gv) @ @)
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75.

76.

77.

International Economic Theory

examines :

(A) The reasons for and the effects
of trade policy and trade

restrictions
(B) The basis for and the gains from

trade
©)
(D)

Only (B)
Both (A) and (B)

In Autarky, a nation’s production

possibility frontier is also its :
(A) Opportunity cost

(B) Exchange option/frontier
(C) Consumption frontier

(D) Revenue frontier

Converting your local financial
assets into foreign financial assets
and vice-versa at the market

determined exchange rate is .........

(A) Reserve Account

(B) American Depository Receipts
(ADRs)

(C) Capital Account Convertibility

(D) Current Account Convertibility

75.

76.

77.

APR - 11224/T1—A
AT o fagia & audi—

(A) MR R 7for =R fHsiem=n
RO oy 9o

(B) AR SR 30T H
(C) %= (B)

D) (A) 9 (B) sr=t

o5 ASeEdq I SCAEATE! el

(A) T fhwa
(B) fafaa g
(C) 3udn HiHr
(D) HeHe HH

I T ek Ao SR
facelt snfder demxa enfor =R,
s fgifa fafa <@ &,

(A) TEE @
(B) 0fiama feuifeed g

(C) WEad @d qiad- =

(D) =Tel @d g
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78. Which of the following are the

79.

limitations of head count index of
measurement of poverty ?

(z) It doesn’t take into account the
intensity of poverty

(z1) It doesn’t indicate how poor the
poor are

(zii) It doesn’t estimate poverty by
individuals but by households

(A)
(B)
(C)
(D)

Only (i)

Both (iz) and (iit)

Only (iv)

(@), (@) and (i)

If the production function exhibits
decreasing returns to scale in the

steady state, an increase in the rate

of population would lead to :

(A) Growth in total output and

growth in output per worker

(B) Growth in total output but no

growth in output per worker

(C) Growth in total output but a

decrease in output per worker
(D)

No growth in total output or in

output per worker

APR - 11224/I11—A

78. qeiad®l wivrdt faum  fermord

79.

e wAiel gEada 2
@)

71 o v Siiear=i diean <gied Akl

n & o n fa

AR REEIERIEASIERENIRINERCIE)

ST g ATal
(iii) =1 TRz STRIaT FHed ¥ The
HA SRS HISHMY !

(A) e (D)

(B) T=1 (i) M0 (i)

(C) ®mH (iv)

D) @), (@) o (Gii)

S 3G et Hed AT S¥ad ST

T dAEeda a6 qerd g

RIEE

THU IARA AT STeis offieh
IACATA a6

ThUl SURAIA e Uiy Sl
ATk SUEATIIA Slerdl 314Td

(A)

(B)

(C) TRU SURAMIA a6 W el

A ISERATA T2

TR Icqed S0 SISz A4
el dTerl 37919

(D)
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80.

81.

Which of the following options is
correct when we only accomplish two
out of three pillars of sustainable

development ?

(A) Economic + Environmental
Sustainability = Viable

(B) Social + Environmental
Sustainability = Bearable

(C) Social + Economic
Sustainability = Equitable

(D) Political + Economic

Sustainability = Workable

Which of the following theories are

associated with the dependency

theory ?

(z) Development of under-
development

(i1) World-systems theory

(iii)
(tv)
(A)

Critical minimum effort
Theory of unequal exchange
Only (i) and (ii7)

(B)
(C)

Only (@), (i1) and (ii7)
Only (@), (i1) and (Gv)

(D) Only (i), (i) and (v)

80.

81.
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R Tees T IYad Akl &

T HEAaR [elerieh! v JehTe]

fifeerdt famo ega ?
(A) T + THTERT Yveal = =aeE

(B) HMISIoR + THeR0 IYeddl = Tg1eH

(C) TSI + Tfeer IMvaadl = GH

(D) ST + SR YMYaddl = FHLoi

qEietieh! shvTd fagTa sterciferam fagrarstt
el Fed 2

() Afehfaad=n fashm

@) STfas-oee fagm

(iii) ToTtaeR TR 9o

o

(lv) 3THHM T

T fagrd
(A) % @) 30 (i)

(B) e (), (ii) 30 (iii)
(C) w (i), (i7) 3T (iv)

(D) W (i1), (iii) S0 ((v)
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82. The output elasticity of labour is :

83.

(A) equal to one at the level of
output where average product

is at a maximum

(B) the percentage change in labour
required to produce one more

unit of output

(C) equal to the ratio of total
product to the quantity of

labour employed

(D) a measure of the percentage
change in output that can result
when the quantity of labour is
changing

If the investment rate of an economy
is 24%, capital-output ratio is 4 and
the growth rate of population is 1.5%,
what would be the growth rate of

per capita income ?
(A) 4.5%
(B) 5.5%
(C) 6.5%

D) 3.5%

82.

83.
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U SR e iaehdl :

(A) TEH SR HeqH A9 T
Tl 379d

(B) STUREATT A& H0FMEE! STHd ]

Ao YRl 918

(C) & wafaehdl THU Icded (0
AR TSR A=A TUikeae]
A

(D) IcURATAIA THST - ATl
ST TR 98d ATl
R B

SR STefaESE A ST 24% 3R,

TETA-3CURA TUITR 4 TR =AM

AR S 1.5% 378, T e

3Tl Jgiel el aT8e ?
(A) 4.5%
(B) 5.5%
(C) 6.5%

D) 3.5%
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84.

85.

According to Adam Smith, there is

a mutual dependence between

(A)

division of labour and the

extent/size of the market

(B) invisible hand and business
cycles
(C) capital accumulation and

general price level

(D) division of labour and industrial
integration
What is Palma ratio ?

(A) Share of richest 1% population
in GNI/Share of poorest 99%
population in GNI

(B) Share of richest 10% population
in GNI/Share of poorest 10%

population in GNI

(C) Share of richest 1% population
in GNI/Share of poorest 10%

population in GNI

(D) Share of richest 10% population
in GNI/Share of poorest 40%

population in GNI

84.

85.
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afeq foy 9r=a 14,

TWEE e 379

(A) gHfaaTST 20 SR AR

(B) 31G¥F B M0 AR <sh

(C) YEael GeiehTor A1 9= fermd

et

D) gwufaarsT  arfor ai=ifire

ThTTcHeR IR

ed IR RS 7

(A) @ T Ia=dia Afasfiaa 1%
AHEEIIT FATS/FA U
e AFTRIS 99% SAREE
e

T TR SR STiasiaa 10%
AFHFTCIAT TR/ A USST
g TS 10% R
are

T U Iq=rdia Afasfidd 1%
FHHBIAIT AT/ T A UL
IR SIS 10% Tehees
are

e T et stfasiea 10%
AHFEBIAT FATSN/FA U
ST SIS 40% ThaE

qrd1

(B)

(&)

(D)
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86. In case of Schumpeter’s model of 6. 'QIcﬁa qr=T 3R cﬂ.,g'] TR,
economic growth, which of the
following statements is true ? et o fawm A sre 2
A Th .t 1. t ¥ o [y (=S
@) © capials economy (A) HTSACRIEl UL JATdHC:
ultimately reaches stationary
state Frerrereen feudtefier sraeean ed
(B) The profit rate tends to become N e
(B) TEhTHATShI=AT EN TR S I
equal to zero at the end of the B
development process AT Yt 3T
(C) Cyclical swings are the cost of
economic development under (C) TP F&-IR T HSTAMEHHA
capitalism A T drer oM
(D) The process of economic
development is not a cyclical (D) anféer faermar=i wishan =i T3
rocess but is a structural )
P TS 3T
process
87. According to Harrod, a technical 87. e FreAl WA, T AT T
change is neutral if ................. . qEEd ST
(A) MPi/MP; = capital-labour (A) YT G S/ 249 iHa
ratio 3AET = iEae- 9" T
(B) at a constant rate of profit, (B) Trm=l €0 fieR TR Hiseae-
capital-output ratio also N N
P P IUTe TUIRR SEie TEer e 38
remains constant
L. , , (C) v fwar wieaamr=t o= T
(C) it is labour or capital saving
(D) MP/MP; = wage rate-interest (D) TEaar HHw ScE/ S Wi
K L~ -
rate ratio SCHIGH = ald"Iq‘\—Of-il\TICi'{ N RIASES
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88.

89.

Which of the following banks were
merged with Bank of Baroda in
20197

(1) Union Bank of India
(i1) Dena Bank

(211) Indian Bank

(iv) Vijaya Bank

(A) () and (@)

(B) @i7) and (i)

(C) @) and (iv)

(D) @) and (i)

Kisan Credit Card Scheme was

introduced by :

(A) NABARD

(B) Reserve Bank of India
(C) Co-operative Banks

(D) Regional Rural Banks

88.

89.

APR - 11224/T1—A

2019 T WIACTUh! IV Shid sk

I SERME faferientor sivam oe ?
(@) IR o oftw sfea

@) S o

(i1i) sfeam <

(v) fasmn =%

(A) @) = i)

(B) (2) 3mfur (iii)

(C) (i) & (iv)

(D) @) snfor (i)

frdmM shfee 1 A
& el

(A) T

(B) s Rgret o
(C) HWeHhRl sl

(D) Wiefereh wrHIor <kt
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90.

91.

Which Article in the Constitution of
India deals with the Annual

Financial Statement ?
(A) Article 111
(B) Article 112
(C) Article 113
(D) Article 114

Which of the following are the main
objectives of Agriculture Census in
India ?

(z) To describe the structure and
characteristics of agriculture
sector

(z1)) To provide benchmark data

upto village level

(zit) To provide statistical frame of

operational holding
(A) (i) and (ii) only
(B) (i) and (iii) only
(C) (i) and (iii) only

(D) @), (i) and (i7)

APR - 11224/I11—A

90. YA USTHEdlel hIUd FHeTd o

e foaeomelt Tt oM ?
(A) Fem 111
(B) Hem™ 112
(C) ™ 113

(D) = 114

91. WEAUh! HITA HRARTA FH T

e Sfesl fed ?

() FOT e TE ety afyre 9=
U HLA

() e T S Aifgdl Wer SRl

(iii) HTHTcHeR RUTEsT= HieTeh [ Hehe
TEH &

(A) @) =91 (i) e
(B) (@) 37for (iii) He
(C) (7) =AM (i4) e

D) @), (@) o (iii)
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92.

93.

What is the main objective of
Ayushman Bharat-Pradhan Mantri

Jan Arogya Yojana ?

(A) To provide financial protection
to poor and vulnerable families

for their health expenditure

(B) To promote the growth of the

healthcare industry

(C) To provide subsidies to private

hospitals

(D) To create a separate healthcare

system for the poor
India’s first ‘National Investment
and Manufacturing Zone’ is situated
in :
(A) Andhra Pradesh
(B) Gujarat
(C) Maharashtra

(D) Uttar Pradesh

92.

93.
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STSAM WRA-WHHHT S AR Frsa

ed 39 ®E AR 7

(A) T 3T STEfeTa Sea =

FRTIE0E E=er SR Taqo

EEHERETU

(B) 3TRFT Tal SFNTAT dlerd =]

<

(C) TSR FUMAAT STRH <0

(D) RS Lo ST eyt i
Y01

IRAA dige ‘TS Taaves S

I &3 ekl v TS

e ?

(A) TYTRY
(B) TSA
(C) HENI=

(D) IRy
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94. Square root rule is ................. ) Qg e = W B as
(A)C=\/§ (A) C= 25;
(B) C:% (B) C:%
(C) C= 2b (C) C-= \/277’
D) C= \/@ (D) C= \/@
r r
95. e-NAM scheme was started in which | 99 €e-NAM AT @ Adeh! RIvTel st
of the following year ? ge w2
(A) 2014 (A) 2014
(B) 2015 (B) 2015
(C) 2016 (C) 2016
(D) 2017 D) 2017
96. India’s Economic Freedom Index | 96. &% 2023 W&l WRATal &MU &=
score in the year 2023 was ....... [RERIIC IR eI I Bl
(A) 61.2 (A) 61.2
(B) 52.9 (B) 52.9
(C) 51 (C) 51
(D) 53.3 (D) 53.3
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97.

98.

Which of the following statements

is false ?

(A) MGNREGS is implemented

through an Act

(B) MGNREGS provides some

reservation to women

(C) The wage rate of Rs. 100 per

day is provided through

MGNREGS

(D) MGNREGS does not provide

wage employment where
unskilled manual work is

involved

Which of the following is the correct
formula to calculate National Multi-

Dimensional Poverty Index in

India ?

(A) MPI = H*I
(B) MPI = H*A
(C) MPI = H*P
(D) MPI = P*A

97.

98.

APR - 11224/11—A
WIEAAUH! IO T Ik e ?

(A) MGNREG ZS1 & SHTIEER

BECIGIRSIN

Ls.}

MGNREG 3151 g Afeeidndl Sl

(B)

n N
SN RIelld oqd

(C) MGNREG =isHgR ydl feaw

T. 100 oa9 < Toem Sl

(D) MGNREG FIS9T (I

N N

Ad- <SR

LA Lo o
SHIHRCA=Al enlHIMIS]

I
@etietieh! ShivNT SgeTTETH SRee e
Ao a0 g5 el 7

(A) MPI = H*I
(B) MPI = H*A
(C) MPI = H*P
(D) MPI = P*A
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99. India’s market capitalisation in the

year 2023 was

(A) Half the GDP of India
(B) 10th largest in the world
(C) Nearby GDP of India
(D) 1/4th of the GDP of India

100. Which of the following statements

is true ?

(A) India had the largest road
network in the world in the year

2022

(B) India had the second largest
road network in the world in the

year 2022

(C) India had the largest railway

network in the world in the year

2022

(D) India had the second largest
railway network in the world in

the year 2022

APR - 11224/T1—A
99. I8 2023 T YNAN NN Ead

....................

(B) e 109 9aid i

(C) YRAr=al ¥Ya <EMHId  ScHIGAT=A
EEC

(D) WA= e S ScTer=a Teh
ERRIN

100. EATAUh! I G Sk 38 2

(A) o8 2022 T IRAH T T STTed

S Fatd Hie B

(B) 99 2022 A& YRAHES T Sod

ST S8R 9T Hio B

(C) 99 2022 T YRAHEY Iodd

S Haid A8 B

(D) =9 2022 HE YA oo

ST §ER 9dtd Hio B
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ROUGH WORK
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